Unit 4 PRACTICE test B

Find the solutfon, [fiIt's an inequality, graph the solution.
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Match the graph to the correct inequality.

15, %»2 A
16, x<2 B
7. Kz2 c

18 x<2 D

19. Graph the solution for x < 40

20, Write the Tnequalily for the graph.

it will be at least 55 degrees today.

21, Write the inequallty.

22. Braw a gragh of the solutions,
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No more than 5 people can fit in my car.

23. Write the Inequality.
24. Draw a graph of the solutions,

Lunch will cost more than $6.00.

25, Write the inequality.

26, Draw a graph of the solutions.




